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1. Main ideas of the text „Dr Keynes's Chinese patient” (Economist, November 15th-21st 2008): 

- China’s fiscal stimulus package could mitigate its own economic slowdown / maintain a substantial growth rate and fight the recession in industrialized countries.
- The economic policy aims at the public support of farmers; it promises tax relief for corporations and emphasizes public spending for infrastructure, education, and environment.

- An important effect is seen in balancing the distorted trade relations between China and Western countries.

Overall the author sees this mainly Keynesian program as “a giant step in the right direction”.  

2. Difference between demand-side and supply-side policy in general, and with regard to the text / the diagram
Demand side economics (Keynesian economics): In a recession GDP growth can be most effectively managed by controlling demand for goods and services, typically by adjusting the level of government spending (public goods like education, infrastructure) or stimulating domestic demand: it’s a short-term oriented fiscal policy - consequence: new public debt.

Supply-side economics: economic growth / investments can be most effectively created using incentives for people (companies) to produce (supply) goods and services, such as adjusting income tax and capital gains tax rates, key interest rates (monetary policy), or reducing government regulations (= deregulation). Medium- or long-term oriented.

Reference to the text: China primarily chooses a demand side policy: public spending / subsidies for farmers, investments in infrastructure and environment; reducing consumption tax. At the same time public spending for education in the long run improves the supply side: better workforce qualifikation. - The diagram shows that China’s public debt is much lower than in Western countries, providing more leeway for the chosen Keynesian fiscal policy.

3. Would you recommend a similar economic policy for Germany? (Also consider alternatives.)
You could discuss the following aspects:
- Economic and social differences between China and Germany

- High public indebtedness of Germany (= burden on future generations …) makes a Keynesian strategy more difficult 

- Specific measures, plans and experiences: tax cuts for high-income individuals or small businesses in the U.S. did not improve investments; because of Germany’s high savings rate (panic saving) this measure would not necessarily lead to more demand; lower interest rates (ECB) could stimulate investments; planned tax cuts for automobiles, subsidies for energy saving expenses, and lower additional costs for health care (employee benefit costs) would stimulate demand; problems: producing artificial demand, only a short term solution

- Alternatives: policy-mix: increased public spending plus deregulation (e.g. of the labor market); higher wages; waiting (Merkel: “Politik der Vernunft”, so far no major problem visible); spreading trust and optimism (because “recession is psychologically based”)  
